R:\A - Projects\Project Folders\Proj 1301-1400\PF 1358\D. RWBC Drawings\TX-4024\TX-4024.dwg, TX-4024

Town " Country

Wholesale Aluminum and Building Products
400 WEST MCNAB RoAD
FORT LAUDERDALE, FL 33309

050" ALUMINUM
STORM PANEL

EVALUATED FOR USE IN THE STATE OF TEXAS

THE PANEL STORM SHUTTER SYSTEM DESCRIBED HEREIN COMPLIES WITH THE 2006
INTERNATIONAL RESIDENTIAL CODE (IRC), SECTION R301.2.1.2 AND THE 2006
INTERNATIONAL BUILDING CODE (IBC), SECTION 1609.1.2 WITH TEXAS REVISIONS
SUBJECT TO THE FOLLOWING CONDITIONS:

1.

2.
3.

10.
11.
12.

13.
14.

This system has been tested and evaluated as a large missile impact protective system for
installation in the Seaward, Inland | and Inland Il areas. This product meets missile level "D" and
includes Wind Zone 4 as defined in ASTM E1996.

No 33-1/3% increase in allowable stress has been used in the design of this product. Anchors into
wood were designed with 1.6 load duration.

Positive and negative design pressures to be used with these drawings shall be determined by
others for specific jobs in accordance with the local governing code.

. The system detailed herein is generic and does not provide information for a specific site. The

details herein cover connection to wood, concrete and CMU substrates. If site conditions deviate
from the conditions detailed herein, a licensed engineer or registered architect shall prepare site
specific documents to be used in conjunction with this document.

. Product markings shall be rolled into each panel with spacing in between marking no greater than

24" and shall be labeled as follows:
Town & Country Industries
Ft. Lauderdale, FL
ASTM Missile Level D

. Aluminum storm panels shall be 5052-H32 or 3004-H34 aluminum alloy, tested thickness 0.0495".
. All extrusions shall be 6063-T6 aluminum alloy, unless noted otherwise. All tolerances shall be in

accordance with ADM 2005.

. All bolts & washers shall be corrosion resistant in compliance with Section 1716.1 of the 2006

Texas Revisions to the 2006 IBC and in compliance with Section R325.1 of the 2006 Texas
Revisions to the 2006 IRC.

. Permit holder shall verify the adequacy of the existing structure to withstand new superimposed

loads.

Storm panels have been designed and tested to the maximum spans and loads shown on these
drawings.

Top & bottom details shown may be interchanged as field conditions dictate. Panels may be
mounted horizontally where applicable.

Panels may be mounted in reverse direction (i.e. interior side of opening). For reverse mounted
applications, use the positive design pressures shown in Table 1 for both positive and negative
design pressures.

Panel attachment to mounting hardware using washered wingnut or direct mount anchors are at 12"
on center.

Storm panel connection to mounting hardware extrusions at 12" O.C. maximum.

TABLE OF CONTENTS

DESCRIPTION

TYPICAL ELEVATIONS, GENERAL NOTES
BILL OF MATERIALS & COMPONENTS
TYPICAL CLOSURE DETAILS

TYPICAL CROSS SECTIONS

TYPICAL CROSS SECTIONS

TYPICAL CROSS SECTIONS

TYPICAL CROSS SECTIONS

TYPICAL CROSS SECTIONS AND INTERIOR FASTENED PANEL
ANCHORING SCHEDULE — CONCRETE
ANCHORING SCHEDULE — BLOCK
ANCHORING SCHEDULE — WOOD

SHEET #

i P (S I R S LS EN S DN B

(TYP N
SSEETIGHEZ

DIMENSION UNLIMITED
(PERP. TO PANEL SPAN) — ~—

12” MAX. ON CENTER

PANEL ATTACHMENT TO MOUNTING
HARDWARE OR DIRECT MOUNT.

[ ]
KEYHOLE PUNCH DETAIL W ™~
ALTERNATIVE HOLE DIA. OF
5/8° IS ACCEPTABLE.
g‘_
= Ly
<q
oK
_
ol
Z o
o
TABLE 1 - PANEL SPAN ] §
ALLOWABLE DESIGN PRESSURES >
ALLOWABLE
PANEL DESIGN PRESSURE
SPAN (+) (-) _.1 WIDTH UNLIMITED PERP.
(in) PSF PSF MAX. PANEL SPAN TO PANEL SPAN
144 33.0 35.0 SEE TROLE 1 , , ,
138 39.2 311 . : T
132 45.4 47.1 Z
126 51.6 53.2 % Z
120 57.9 59.3 ’ 250 O
114 64.1 65.4 %% =@
108 703 714 : 40 ZE
102 76.5 77.5 Fo o L)
%6 82.7 836 By 27
90 88.9 89.6 : y L =
84 95.1 95.7 Q.
78 101.4 101.8 - : I ! i
Zé ig;g ig;g TYPICAL HORIZONTAL INSTALLATION -—f TYPICAL VERTICAL INSTALLATION
0-60 120.0 120.0 NOTE: TOP MAY BE SLOPED OR RADIUSED TO MATCH GEOMETRY OF OPENING, MOUNTING

HARDWARE MUST BE ROLL-FORMED TO THE RADIUS; NO NOTCHING OF MOUNTING HARDWARE

TO ACHIEVE SHAPES IS ALLOWED.

n

(o]

n

g
.-?§¥?
- | ,:ﬁ 4§
f‘l.-" .%.?;3

N

o =3

AT g

"O'-, 0 %

XS

" 'oﬂd
\? N o
ALY N
£ )
£ @< z
3 =
] |
o <
g
o
N
S (%)
ooy 2
E & So
> 9. 5=
5 37 42
o
2 29
0| 2
S (o]
B D2 3O
.o < _—
5 Clx &
S ol @ =
8 3k
& 15
I
[~
— ul |2
]
] %]
Xl @
E| |x
]
s
(4
3
Sl
ko
—|lo
pa
pate:  3/3/08
ScALE:  N.T.S.

2 DWG. BY: AL
CHK. BY: LFS
DRAWING NO.:

TX—4024

SHEET _1_ oF 11

© zo09 R.w. BUILDING CONSULTANTS INGC.



AT o 12.00" (COVERAGE) ———=6.00" (COVERAGE}———]
' ALTERNATE LABEL — ALTERNATE LABEL
. . LABEL LOCATION — —|}—o0.125
2,02 LOCATION .02 BT, SURFACE LOCATION
EXT. SURFACE ' EXT. SURFACE o o
o~
-~ A [
y 4 @
‘i 4 cf = 8 gn
o N 1.47" ) T S =58
o~ o ; N4 S ‘ GED
- 3 / 28]
Ny Q Z - g«g;-
6.00” 6.00" i l— 1o NG 1", 2", 3", 4" OR 5"— :@gﬁfﬁ
1.01" l- ~ —l 1.07" , | 8.332" HALF PANEL————] @ AxZ 0w
14.375" (TOTAL WIDTH) | ME g SFR P
HALF STORM PANEL (5 ANGLE 7 et
@STORM PANEL NOTE: HALF STORM PANEL CAN ONLY BE USED AS At
AN END PANEL TO CLOSE THE REMAINING 7 18:2% &
OPENING THAT MAY BE LESS THAN FULL PANEL §§l é@"é;m P
WIDTH <
1/4-20X3/4 KNURLED 4 =
o082 T T, PN
- == Y 12° 0O E 1N
] 1/4-20X3/4 KNURLED
é 2.250 J- 2.250 l—i 8 g 0.125 ]“ STUggnwl VINGggTS (DIRECTION MAY BE REVERSED> §
- SPA AT 127
2 0.095 5 0.085 —| Q] S S _ll— 0101 3 (DIRECTION MAY BE REVERSED)  0.091—||—  1/4-20X3/4 KNURLED 0.091—{|— °
' ' ‘ ‘ i ‘ & /) SPACED AT 12° OC N
] T ] T 8 § (s) CDIRECTION MAY BE REVERSED) o
0.09 b 0.094 I, 5
& 3 o & 3 & "8 N g 9
g 2 g 2 3 . b 2 , 84 A i ® of 2
J J =} 1 2z - - O Wy
_L Y 2", 3", 4" OR 5"———| i - E 9 35
0.062 0 0.06 11; ¢ ) 5 | | winium_| i f N T s 9., 52
0.062 —{l~——2.06" 2 0.062 —{~—2.06" 2 ——2.06"—] 2" LEG o MINIMUM 3 5 sIx a:t:
5 S 832" LEG = S
© = Z ]
& JYl =2
(2)"H" HEADER (3)"U" HEADER BUILD-OUT "U" HEADER @i{ggEﬁNG'-E (4a) STUD ANGLE STUD ANGLE S 37 25
SEE NOTE 1 SEE NOTE 1 E M < P
S 5|0 =
8 0 1
& B
1%, 2 OR 3 o a
: 0.378 0150 B
z o ! 0 : ‘7[7]5 <|m
(=) =t Q
TS £z S £ 15 1/4-20 > [ T
= T !l TRUSS HEAD BOLT T I 1Y
J) I REQUIRES USE OF KEYHOLE WASHER . S > 3 &
B Y 2 0188"‘1 L \ IN' DIRECT MOUNT APPLICATIONS 83 U oie < C A
o e ' =S - g 1/4-20 SQ./HEX HEAD BOLT ol |2
» . o STUDS W/ WINGNUTS -l =
< 1/4-20 SQ./HEX HEAD BOLT N 1/4-20 SQ./HEX HEAD BOLT ‘ SPACED AT 12° OC o 9
% S STUDS W/ WINGNUTS 5 STUDS W/ WINGNUTS BRI s avs s arraeawsasd it 3 wnl @
g SPACED AT 12° OC / - SPACED AT 12° DC 1 l —___—K__- § =
i L= 0090-.' = 2000 I OPTIONAL é IS:J
—1—0.086 @BUILD_OUT F” TRACK NOTES Ty wn wEn HEG DIRECTION )
1. ANCHOR HEADS MUST NOT INTERFERE WITH INSTALLATION OF LI_B.AEK. 2 F ANGLE TRACK g
THE PANEL. ANCHORS SHALL NOT BE INSTALLED MORE THAN SEE NOTE 1 a G
3" FROM END OF EXTRUSIONS. IF ANCHORS MUST BE MOVED o z
TO FACILITATE INSTALLATION OF THE PANEL, ANCHOR o o
SCHEDULE REQUIREMENTS SUCH AS CENTERLINE DISTANCES, I o E
EMBEDMENT, EDGE DISTANCE, ETC MUST BE MAINTAINED. 0085 & N £
— S 0.873 NENE
< o DT} T 0563 .
a - |O Q
3 sl . 5 e z| |©
- [y L INS T : v _3/5/08 | £
0.05 — 030— —1° scAE:  N.T.S. 3
1/4-20 MACHINE BOLT 1/4-20 Aoy owo ;AL |®
S 13) #14x3/4 TEK/SMS SIDEWALK BOLT (11) 1/4-20 SQ./HEX KEYHOLE WASHER o™ AL |7
CHK. BY: A
20 GA. . ST = -
W/NUT SCREW HEAD BOLT (9)WASHER WINGNUT ~ 2 e eavy: stee coosen (s :
NON—RECESSED FLAT ALLOY (3004-H34> - 0
SURFACE TYPE ONLY TX-4024 0
SHEET _2_oF 11 |g

RI\A - Projects\Project Folders\Proj 1301-1400\PF 1358\D. RWBC Drawings\TX-4024\TX-4024.dwg, 1-2



ALUM. ANGLE CLOSURE /\/ /\/
PIECE 1x2 MIN, TO 1x5 MAX. \/\ \[\
MIN. THICKNESS 0.0625_\ ' }
EXISTING
/\/ /\/ ‘ STRUCTURE = <
N g
s _1/4" MAX. EXISTING STRUCTURE g < A’ EXISTING STRUCTURE
| %
EXISTING STRUCTURE |
| l—1/4" MAX. , iz
/ i \?%
B¢ o
N
s i
TRAP MOUNT CLOSURE DETAIL E T
WALL MOUNT CLOSURE DETAIL E @ —
I3 L~ /
8 _,.‘//
o
[}
=z
=
r \/\ \]\ : ﬂ/\ i R
- EXISTING STRUCTURE A EXISTING STRUCTURE e = vl
L S ==
*]__EDGE E & So
v .| DIST. = 5 9. &=
5 =3 o
- - ] Jyas] —ine
=z = = 2| W
=i
= = x Sl 4=
2 2 E jon'| N7 <Lu
N N L 2 < SO
= = 5l |y &
ALUM. ANGLE CLOSURE ALUM. ANGLE CLEOSURE 5 5o =
PIECE 1x2 MIN. TO 1x5 MAX, PIECE 1x2 MIN. TO 1x5 MAX, 2 e P
MIN, THICKNESS 0.0625 FASTENERS @ 24° 0O.C. MIN, THICKNESS 0,0625 —FASTENERS @ 24° 0. FOR & Sl
(SEE CONCRETE DR WOOD N DESIGN LOAD DP< 90 PSF & o o
SUBSTRATE ANCHOR SCHEDULE FOR 18 FOR DESIGN LOAD S0<DP<=120.
ACCEPTABLE ANCHIORSD), (SEE HOLLOW BLOCK SUBSTRATE >
ANCHOR SCHEDULE FOR ACCEPTABLE ANCHORS). <|m
W L
\t;( .
—~
I
ﬂ/\ \/\ b I
EXISTING > e
(7)) )
STRUCTURE =
v < % >
~ I
< %—3 ALTERNATE DETAIL ALTERNATE DETAIL ~
1% wOOD OR CONCRETE SUBSTRATE HOLLOW BLOCK CMU SUBSTRATE @
1/4" MAX—] |— =b 7 '
25 <HRE
[s,) 0]
(@) -
z
%E <
SaRE
ALUM. ANGLE CLOSURE IR
\ PIECE 1x2 MIN. TO 1x5 MAX. ol 1a
\ MIN. THICKNESS 0.0625 Z| o
ju)
e 24° OC eg par OC oate: 3/3/08 z
d@ SCALE: N.T.S. §
@ DWG. BY: AL o
0.060° ALUMINUM -
BUILD-OUT MOUNT CLOSURE DETAIL CORNER ANGLE cHk. B:  LFS 3
3004-H34 OR 6061-T5 : &
DRAWING NO.: o
CORNER ANGLE DETAIL TX—4024 5
N
SHEET 3 ofF 11 ©

R:\A - Projects\Project Folders\Proj 1301-1400\PF 1358\D. RWBC Drawings\TX-4024\TX-4024.dwg, 1-3



R:\A - Projects\Project Folders\Proj 1301-1400\PF 1358\D. RWBC Drawings\TX-4024\TX-4024.dwg, 1-4

C1 CONNECTION TYPE
SELECT ANCHOR TYPE AND
ANCHOR SPACING FROM
ANCHOR SCHEDULE

N—

—
-0.327" MAX.
— 0.25" MAX

N o

2 .

2 i}
= i U
=

2

5 \

(1o)

MAX. PANEL SPAN
(SEE TABLE 1)

@"H" MOUNT SECTION

z
o
7
-t
Lt
=4
<
[
>
<
=

(SEE TABLE 1) ——

EXISTING STRUCTURE

<
T

0.25" MAX.—J -

C5 CONNECTION TYPE
SELECT ANCHOR TYPE AND
ANCHOR SPACING FROM
ANCHOR SCHEDULE

STUD ANGLE WALL MOUNT SECTION

1/4-20X3/4
KNURLED
STUDS SPACED
AT 12° OC

C5 CONNECTION TYPE
SELECT ANCHOR TYPE AND
ANCHOR SPACING FROM

ANCHOR SCHEDULE

C1 CONNECTION TYPE
SELECT ANCHOR TYPE & ANCHOR
SPACING FROM ANCHOR SCHEDULE

(12)e 12 oc. TYP.

EXISTING STRUCTURE

EDGE DIST. —|
1" MAX.

MAX. PANEL SPAN
(SEE TABLE 1)

)

OPTIONAL LEG DIRECTION
C1 CONNECTION TYPE
SELECT ANCHOR TYPE

& ANCHOR SPACING FROM
ANCHOR SCHEDULE

@BUILD-OUT "U" MOUNT SECTION

®

OPTIONAL LEG DIRECTION
C1 CONNECTION TYPE
SELECT ANCHOR TYPE

& ANCHOR SPACING FROM
ANCHOR SCHEDULE

MAX. PANEL SPAN
(SEE TABLE 1)

EXISTING
STRUCTURE

<
0.437" MAX |~

C1 CONNECTION TYPE

SELECT ANCHOR TYPE AND
ANCHOR SPACING FROM
ANCHOR SCHEDULE

@ BUILD-OUT "F" TRACK SECTION

SHEET _4 oF 11

©
a -
;8 N
O mMm } e
Z e o=,
R L
) ;33 iy, W
C1 CONNECTION TYPE P LS
SELECT ANCHOR TYPE Ao &L LY
& ANCHOR SPACING FROM F kS gelio ol
ANCHOR SCHEDULE P R S R i
Fat gei)lion e
¥ U f@eORN TP T L 3;)
B o5 fu =
§ R O
E & ’ 182 _,~:a§j<”"
S | R P E ‘Q} =
7 I——EMB 1 p SN |
e - 0 v od o fL
3L'.'l iy = & - ) & |0
Z &b Z. AN z | —
p @O B N | b 3 {3
2 \ il 8 — <
L r Lo
=
| o
g ] o
1% s =
= N
=
| E & So
S 9, 52
5 3% o
OPTIONAL LEG DIRECTION 29 g
- C1 CONNECTION TYPE g 5 ¥
ELECT ANCHOR TYPE S SS9 2o
F" TRACK MOUNT SECTION {Efeh AR e | © 33 28
ANCHOR SCHEDULE 57 x| T
st SOl &=
5| gk
& 18
S
/l/
=z
=
%]
Y]
d E)' - w
Z= wl 1=
Ll &, ol 1S
% | %)
= ze 2 &
S = = &
o
2 A @
= : &2 .
2 3= “HRE
i ;. s =
\/\ \/¥ FASTEN @ 6 0.C. OR 12° OC. 2 e
BUT DO NOT EXCEED ANCHOR | |2
SCHEDULE SPACING. 2l | E
C5 CONNECTION TYPE NS |3
REFERENCE ANCHOR SCHEDULE " )
ANCHOR TYPE & MAXIMUM =EE
SPACING. KEYHOLE WASHER REQ'D —I=| |o
FOR TRUSS HEAD BOLT USAGE. o
ae: 3/3/08 |z
(F)DIRECT MOUNT SECTION st NTS. |
u}
DWG. BY: AL o
CHK. BY: LFS 2
DRAWING NO.: §
TX-4024 |8
N
©




EXISTING WOOD TRUSS OR
FRAMING MEMBER SHALL BE 0 2
PERPENDICULAR TO PANEL ? .-
SG >= 055 1 |2
l——z.ooo—— Z 7 =
3 ROWS OF 1/4° LAG SCREWS .o ’\a Y . e
3" WITH 27 MIN. EMBEDMENT - #-g BN
INTD WOOD CSG >= 0.55) @ 24 O.C. MAX. C3 CONNECTION TYPE =2y &5d i,A:y b \
SELECT ANCHOR TYPE AND : Z~ F e P 2, -~
EXISTING STUCCD FINISH ANCHOR SPACING FROM OEN Sl 8 agt Jny
OR PLYWDOD SOFFIT ANCHDOR SCHEDULE () = z N2 aglf}':gf%‘.
Ll M et Wl ;
Zl= &£ % > ’
— 2 fAgiEie g
X2 ¢ m g [0 SIE 4
s " e 3 > 21—‘ ‘& %
‘ ‘ o ozzg: i'.,,- Q‘y\d{
\ _ C:: e Ry 1 ‘:‘ -D;..ﬂ‘.:. -t &:}?Qtu"ﬁl
e T ] ANSIELS
' 1 17— < ® et e
& ¢ : : S [ g
y Jo T 8 8 <
<
g —
1o (G)REVERSE STUD ANGLE MOUNT SECTION o
Z
—N-- (0 F % & =z
=
ITEM #13, 12* . L 35 nw»
MAXIMUM [.C. £ boxy =z
COINCIDENT WITH E 5 Qo
ANCHOR ROW CL 4% 2 g 2=
=0 =
@CEILING MOUNT/BUILD-OUT SECTION @ 22 %5:
SG »>= 055 = =P __,“2"
2 32 3
L0 FT L
G < 1%l &
S SOl =
8 0 =
of
C3 CONNECTION TYPE x 15
EXISTING WOOD TRUSS OR SELECT ANCHOR TYPE ANDT
FRAMING MEMBER SHALL BE ANCHOR SPACING FROM l>=
PERPENDICULAR TO PANEL ANCHOR SCHEDULE e 127 Oc <|m
SG >= 0.42
—N
. 3 ROWS DF 1/4° LAG SCREWS Z~
3 WITH 2° MIN, EMBEDMENT ol
INTO WOOD <SG >= 042> € 24° 0.C. MAX. n ]
/ e [
- EXISTING STUCCD FINISH Z|-
s A A X OR PLYWDOD SOFFIT [ il |2
= = = 1) 3 =z
z - = /> 3~ ol S
= z = 2 =
E z 2’ (1) o (e
{ Ll | ) S S
N 2N r ,"’.,'/ YN 3
\ N Uy nn—;; pui) —- / L.QJ
. f Y g
0 | o g
= % [—EDGE DIST = z
s [ ]
= Ry % 0 3 £
® S| P NERE
<
&y EXISTING STRUCTURE ol=| | &
| 2 NENE
| 25 AN e oL e
—M- (19 ol |8
ITEM #13, 12 . b
MAXIMUM O.C. g DATE:  3/3/08 z
COINCIDENT WITH ” sAE. N.T.S q
ANCHOR ROW CL @"F" ANGLE TRACK MOUNT SECTION pe— - AL 35]
CEILING MOUNT/BUILD-OUT SECTION Rl .
SG 3= 0.42 CHK. BY: LFS i
DRAWING NO.: o
TX—4024 |8
N
SHEET _5 oF 11 ©

R:\A - Projects\Project Folders\Proj 1301-1400\PF 1358\D. RWBC Drawings\TX-4024\TX-4024.dwg, 1-5



R:\A - Projects\Project Folders\Proj 1301-1400\PF 1358\D. RWBC Drawings\TX-4024\TX-4024.dwg, 1-6

/\[

DGE DIST.—{;

v
e

EXISTING l\/
STRUCTURE

£

L

=

N
3t

T—EMB.

15
BE

w
T
25" MAX.—

P

9;“
MAX. PANEL SPAN
(SEE TABLE 1)

\I\

C2 CONNECTION TYPE
SELECT ANCHOR TYPE AND
ANCHOR SPACING FROM
ANCHOR SCHEDULE
ANCHOR SPACING NOT
TO EXCEED 16° 0O.C.

@ TRAP "U" HEADER SECTION

C1 CONNECTION TYPE
SELECT ANCHOR SPACING —
AND ANCHOR TYPE FROM

ANCHOR SCHEDULE

(SEE TABLE 1)

i

EDGE
DISTANCE

T RTINS
Ay gt R ey

17 MAX

=

=
EXISTING

AUXILLIARY VIEW

C3Co

NNECTION TYPE

SELECT ANCHOR TYPE
& ANCHOR SPACING FROM

<

(S

ANCHOR SCHEDULE M

MAX. PANEL SPAN
(SEE TABLE 1)

EXISTING STRUCTURE | DIST. iy

5ol

EDGE_|

5%

(L)REVERSE STUD ANGLE FLUSH MOUNT

SECTION (SIDE VIEW)

STRUCTURE

EXISTING STRUCTURE KX

C3 CONNECTION TYPE
SELECT ANCHOR TYPE AND
ANCHOR SPACING FROM
ANCHOR SCHEDULE

@ TRAP STUD ANGLE SECTION

AT 12° O.C. MAX,

OPTIONAL LEG DIRECTION
C4 CONNECTION TYPE
SELECT ANCHOR SPACING
AND ANCHOR TYPE FROM
ANCHOR SCHEDULE

(P)REVERSE "F" ANGLE TRACK MOUNT SECTION

8" MAX.

)
2k
8a

e

37

85

USE ANY ANCHOR FROM
ANCHOR SCHEDULE

SEE ANCHOR
SCHEDULE TABLES

(1)
D

=20

AUXILLIARY VIEW JJ (TOP VIEW)

NOTCHED
ANGLE

REVERSE STUD ANGLE FLUSH MOUNT SECTION

>,

5

Documents PreE.c{gd\i
@EE’E.Z

» o-nn*“ .(gE

D%

o
o
o
)
& 02: ‘gum.n
L & [
E 5 29
> 0. E=
5 =3 o
21D O
s 2 oL
Nl
S ]
2 2 Sé
0 < e
[ |
NS
o
= 0 =
2 9k
o n
-~
={i
—
N |n
w1z
o 1o
@ 2]
X @
M
p—
o
%]
&
3
Lt
o=
S
)
—lo
Z
DaTE:  3/3/08
scAlE:  N.T.S.
DWG. BY: AL
CHK. BY: LFS
DRAWING NO.:
TX—4024

S0
M
g.

177 E.‘L
X

1‘2\

R
ALLEI\; 'ff ’
| 50

|
0
0 N
g JE —
. <5 |
. \ A
ieee
- 2 o, 1'%
ZED I ZE Yool
;’f—%ﬁ '..‘: :‘2'. ‘9 ; ‘i
P = P4 S,
P A LR e PO AN
Zyol mPlet),
3¢ IH Y
® :‘l
:g/
st
: <& 0
%6 5 7

SHEET _6 oF 11

© 2009 R.W. BUILDING CONSULTANTS ING.



STRUCTURAL
1/4° LAG SCREW
BACKING SYSTEM WITH 25° MIN, EMBEDMENT
woop FORAME' AIR GAP AIR GAP INTO WOOD (SG >= 0.55) @ 16* O.C. MAX.
SG >= D42 STRUCTURAL- EMBEDMENT EXCLUDES PLYWDOD & SHEATHING. o ©
1/4° LAG SCREW BACKING SYSTEEI a s
WITH 25° MIN. EMBEDMENT wOOD FRAM . 9 o
' INTD WOOD (SG >= 055) B 16° O.C. MAX. f R DMENT gm 5
EMBEDMENT EXCLUDES PLYWOOD & SHEATHING. It D T s N o 6% . MAX 2 ndawy
' / EMBEDMENT EXCLUDES PLYWDOD & SHEATHING. el o
) 5/16° LAG SCREW y oPL £ 3
1 WITH 3° MIN. EMBEDMENT 14 » "(&0. g- ey
| INTO WOOD (SG >= 0.42) @ 16* O.C. MAX, 7 A58 (izd
= y / EMBEDMENT EXCLUDES PLYWOOD & SHEATHING. . | f o) 282 |3 ad
4 - |3 g g |10
s < £ gl
Wl ‘ n g . | E :@._%;‘ 38
' 7K t T ' % s K G5 iEiE
4 = % % L ’ // Do e | AR EE
: < g ZR 1/4-20X3/4 N L
EMB. 5 . _ &y KNURLED m ‘& (3 % Ne
< 0 v o o STUDS SPACED t BREYEO |
° S =y <5 AT 127 OC g @ ~ 5
— 4 : s > ELCO TVAS PANEL ANCHOR 3 T —
o - = X 3
gl M SEE SPECIFIC ANCHORING 3 2
BRICK VENEER " MAY. @ % BRICK VENEER e - REQUIREMENTS NOTED ABOVE
ASTM C62 INCLUDING AIR GAP, A= ASTM C62 INCLUDING AIR GAP, =
EMB. MUST BE [2e] EMB. MUST BE 1/ Lé-'
MAINTAINED M MAINTAINED g 2
=
v = wn
DO 5y 2o
E & 9o
> U0 :2
I > -1
(Q) "U" HEADER BUILD-OUT THROUGH VENEER OVER STUD ANGLE THROUGH VENEER OVER STRUCTURAL > 33 o3
= 23| MW
STRUCTURAL BASE SECTION BASE SECTION S
—
L6 L e
3} « |5 &
OPTIONAL LEG DIRECTION 8 % - S
1/4" LAG SCREW 5 ol
WITH 25¢ MIN, EMBEDMENT [ <
INTD WOOD (SG >= 055) @ 16° O.C. MAX. o o
5/16° LAG SCREW
WITH 25° MIN, EMBEDMENT >
INTD WDOD (SG >= 0.42) @ 16° O.C, MAX. <|m
OPTIONAL LEG DIRECTION 6" MAX.
) 5/16° LAG SCREW INCL. AIR GAP, o0
6" MAX. WITH 3° MIN, EMBEDMENT EMB. MUST BE
INCL. AIR GAP, INTO wWOOD (SG >= 0.42) @ 16 0O.C. MAX, MAINTAINED /1,
EMB. MUST BE 1/4" LAG SCREW
MAINTAINED WITH 25° MIN. EMBEDMENT 2 L
INTD WOOD (SG >= 0.55) @ 16° O.C. MAX. 5. wl |2
T il
Z 2R S
Ol <] i Lt
2 ol =
Do 3 o
= = L
o T hiES e g
= gc w© o Z
s §‘ R [« 0]
e 3l |2
— ® \ A |
X% N
\ bt \_“ AIR GAP i z
© (Do) ~lo] |3
1/4° LAG SCREW = |o
AIR GAP STRUCTURAL WITH 25° MIN, EMBEDMENT o
1/4° LAG SCREW BACKING SYSTEM BRICK VENEER INTD WOOD (SG >= 0.55) @ 16” O.C. MAX. DATE: 3 /3 /08 z
STRUCTURAL.- WITH 2.5° MIN, EMBEDMENT WOOD FRAME ASTM Cé2 5/16° LAG SCREW - q
BACKING SYSTEM BRICK VENEER INTD WOOD (SG >= 0.55) @ 16° O.C. MAX. SG >= 0.45 WITH 25 MIN. EMBEDMENT scae:  N.T.S. J
WOOD FRAME ASTM Cs2 5/16° LAG SCREW INTD WOOD (SG >= 042 @ 16° OC. MAX, oWe. BY: AL a
SG >= 042 INTD wimD (NG S 4B © 16° 0, MAX e :
| o (R9 DIRECT MOUNT THROUGH VENEER OVER STRUCTURAL o LFS |3
DRAWING NO.:
(R) BUILD-OUT "F" TRACK THROUGH VENEER OVER BASE SECTION e e |2
5]
STRUCTURAL BASE SECTION x
SHEET _/7_oF 11 |g

R:\A - Projects\Project Folders\Proj 1301-1400\PF 1358\D. RWBC Drawings\TX-4024\TX-4024.dwg, 1-7



R:\A - Projects\Project Folders\Proj 1301-1400\PF 1358\D. RWBC Drawings\TX-4024\TX-4024.dwg, 1-8

PUNCH 1/2°x1” HOLES IN
ADJACENT PANELS TO RECEIVE
THIS BOLT W/PM NUT. PLACE
PANEL OVER EACH ADJACENT
PANEL AND FASTEN WASHER
WINGNUTS FROM THE

INTERIOR SIDE.

57x2x1/8° ANGLE.

1/4-20x1” MACHINE SCREW STUD
W/WASHERED WINGNUT @ 12° nOC

CONT. WDDD FRAMING REQUIRED
TO BE DESIGNED BY ENGINEER OR
ARCHITECT OF RECORD FOR THE

SPECIFIC PROJECT. SPECIFIC GRAVITY

C1 CONNECTION TYPE
SELECT ANCHOR TYPE

& ANCHOR SPACING FROM
ANCHOR SCHEDULE

5 LONG HANDLE
ATTACHED TO PANEL
\/
N
/ ® EMB. [ /
S —
ZE g :
\ Fo 2]
v = (o)
— Y
X Ll é
W 2 s
7 S
N My
T T 3 <
- _— o
2-1/2°x1-1/4*
N WIDE NOTCH

(TYP. BOTH SIDES),

(S)"U" HEADER BUILD-OUT
/ MOUNT SECTION

&
=

0.25" MAX.—

&

(CONNECTS TO ADJACENT PANEL), 1"-2"

1/4-20X3/4 KNURLED —
STUDS SPACED AT 12° OC

1

1111711 .

2|

EXISTING STRUCTURE

"

]
——GI} ————————————————————— (4

> ! 3/8'¢ HOLE FOR !

< 2 FASTENING PANEL

P i l l
| |
g %ﬁ ! |
Y 28 I S
A ]
L
|

S°x2°x1/8° ANGLE, /

C1 CONNECTION TYPE
SELECT ANCHOR TYPE
AND ANCHOR SPACING
FROM ANCHOR SCHEDULE

INTERIOR FASTENING ANGLE ASSEMBLY
THESE DETAILS DEPICT THE CONNECTION OF ANY
PANEL FOR AN OPENING WITH PANELS INSTALLED
FROM INSIDE. USE OF THESE DETAILS SHALL BE IN CONJUNCTION
WITH AN "H" HEADER OR "U" HEADER TOP MOUNT. REMOVEABLE PANELS
MAY BE MORE THAN ONE PANEL WIDE IN AN OPENING.

[Ty]
OF THE WOOD FRAMING MEMBERS USED 2
MUST MEET THE MIN. FOR THE PARTICULAR 6 M
WOOD ANCHOR SCHEDULE TABLE USED z"
(SG = 0.42 OR SG = 0.55), g5
2y )
£ 34
,e,‘%:’> "
1/2° MAX, Awz gw
PLWDDD‘\ jﬁvo %: :
A Tl
| | Pz W
=< < S5 1828,
1 L
> Zl~ n 3
<|'= -
@ LI W
y i ] E
z S Z= g
%y i [ °
) EJJ i l(}).l
X<~
~i- ® ¢ .
< =z
Ty ! g 2
=~ C2 CONNECTION TYPE v s <m
= USE 1/4° WOOD LAG SCREW OR £ 2Ww
1/4* ELCO-MALE/FEMALE E & So
PANELMATE REFERENCE ANCHIOR 5 o E=
SCHEDULE FOR MAX. SPACING. I S
5 33 o2
o
= ZF| Wi
@CEILING "U" HEADER MOUNT SECTION s Ja :('E
Lo Y S©
- i Q.
3 Yo &
(=)
S| 8l
SIE
=S
N)
T o o ol B
- —_
S5 emsA: WD = <l @
R/ ) 2~ S
— = P
16 2
3~ %)
/a// = E
> - 4
4/«:// 29 3
4aYab NE
o 12)13)12* O.C. MAX, .
-lo
z
EXISTING (@ ROWS SPACED AT 16°OC MAX.> |paTE: 3/3/08
STUDS. Spaep gD 1/4° LAG BOLTS OR 1/4° WOOD /3/
MAXIMUM 16°0C SCREWS WITH 1.88° MIN, SCALE:  N.T.S.
SG = 45 EMBEDMENT INTD WOOD (SG> = 42 [pue—po o7
@ STUD ANGLE BUILD-OUT MOUNT cHk. B:  LFS
DRAWING NO.:
SECTION INTO STUD WALL TX—4024

SHEET _8 oF 11

© 2009 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1301-1400\PF 1358\D. RWBC Drawings\TX-4024\TX-4024.dwg, 1-9

ANCHOR SCHEDULE

FASTENER MAX. SPACING (IN.) REQ'D FOR VARIOUS DESIGN LOADS AND SPANS

SHORTER EDGE DISTANCES LONGER EDGE DISTANCES
w LOAD SPANS UP TO 60" SPANS UP TO 108" SPANS UP TO 144" SPANS UP TO 60" SPANS UP TO 108" SPANS UP TO 144"
%% mg PSF (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) ug (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1)
=i ANCHOR TYPE |8 Z] MAX. 0 5
EE IEE (SEE CONNECTION CONNECTION CONNECTION 85 CONNECTION CONNECTION CONNECTION
o E SlNoTE TYPE TYPE TYPE 5 TYPE TYPE TYPE
1 JC1]C2|C3|CcalC5/C1]C2|C3]C4|C5]C1]C2|C3|C4|C5 ci1jcz|c3|c4|cslc1|c2lc3]calcslct1]C2]C3|C4lC5
3316 |16[16|16[16]16]16|13[13|16[15([15]10] 9 [ 16 16/16|16|16|16] 16| 16| 16|13 |16|16|16]12]10] 16
= 48116 |16|16|16|16116|12] o] 8 [16]10][10] 7| 6 |16 16]16 16|16 16116 (15| 11| 9 | 1611113 8| 7 [16
4D TTW TAPCON 5|62)16|15|13|12|16f12| 9|7 |6 |16]8|8|5|5]|16)%n |16|16[15[13[16|13]12| 8| 7|16]| 8 10| 6| 5 |16
oo srmpesav R0l ' 176 [16 |12 [10]10[16]10] 8 | 6 | 5 |16] 6 | 6 | 4| 4 |14| 5 [16]15|12]10]16]10| 9| 7|56 718 5| 4 15
a- Slool1e|10] 9|8 |6]8|6|5|4]|16]5|5|3|3|12|2[16]13]|10|8 169|852 1615|7431
10515| 9| 7| 7]16] 7|5 4414l 443|310 16(11]9 |7 (167 |7]|5|4l14]5]6]3]3][10
120113 | 8 6166 (5|3[3[n2falal Vo 1419(8|6(16]6|6[|4]3|12]al5]3 09
33|16 16|16]|16|16)16]16]|14[11|16[13]16]10] 8 | 16 16|16|16|16|16]|16|16]15[11]|16]13[16[11] 8 | 16
48|16|16|16|13][16|14|14| 0| 7[16] 9 (13| 7[5 [16 16|16 |16 |13|16|14|16|10] 7 |16} 9 |15 8 | 5 [ 16
Teoncomeon | 2 162)16[16]13]10[16f 1111 7[5 [16] 7 [10] 5|4 [15|n |[16|16|15|10[16]11]|12] 8|5 161 7 111161 4|15
G suresmvet v 76116 [14[11] 8 [16] 8| 96| 4|16] 58| a7 12| [16|15]12|8|16] 9|10|6]|4|16]5]|9]5 0/ 12
Fe = 2700 pet “901511971677541346///,1081513107167854144847/10
10513 (10| 8|6 |16]6|6|al d11lals A/ ]s 1Bl11|sl6l6]l6| 7|4 1246V ]9
1201118 |7 |5[16| 5|5V 0 0100 sV /7 mjolrlsllslelal Aol sV 7
33|16|16]16|16|16| 16| 16| 16| 14| 16]16|16] 13| 10] 16 16|16]16|16|16]|16[16]|16[14|16[16[16[15]|10] 16
> 48|16 16|16 |16| 16|16 16| 12| 9 [16]11[15| 9| 7 | 16 16|16 [16[16|16[16]|16| 14| 9 [16[11|16|10]| 7 |16
le B |5 62[16]16]16 13116 14]13[ 9 [ 7 [16] 9[12[ 7[5 [16]w [16]16[16[13[16]1416]10[ 7 [16] 9 [15] 8 | 5 |16
yagrcomug revae | o | 76 116 [ 1614 [11[16011|11| 7 | 6|16 79| 5[4 [15]| W [16|16|15[11[16]11]|13| 8|6 |16] 7 |12| 6| 4 | 16
e Sloof6]14a[11|o|6|9|9|6|5|w%|6|8|4|3|13|2 166[13l9]6|0(11] 7151616 10]513 13
T 105{16 [12]10[ 8 [16] 8|8 | 5| 4|15|5]| 7|4 3 |11 16[14[11|8|16]8|9|6|4|15]5 |8 4] 3|11
g 120115]10| 8 {7 [16f 7 [ 743 [13]4]6 |3 10 15/112110| 7 (18] 7|8 |s5[3[13]4a]7]4 10
§ 33|16|16|16]16]|16]16[16]16]16]16]16][16|13] 12| 16 16|16 |16 |16 | 1616 | 16| 16| 16|16} 16|16 14| 12| 16
S 48116 |16|16|16|16]|16[16[12]11|16][13][14] 9| 8 |16 16|16 (16|16 |16[16|16]13[11]16] 13|15 9 | 8 [ 16
le 5162|16|16|16(16]|16|16]13] 9| 8 |16|10[11]| 7|6 |16]t [16]16]16|16|16)16[13|10| 9 |16)10|11]| 7| 6 |16
eauYS ssCt w|76 16|16 14|13 16|13]|10| 7| 7|16| 8| 9| 5|5|16| % |[16]16[14|13]|6|13[11] 8|7 16181916516
i Bloo[16|14a[12]11|16[11|9|6]|6|16]7[7]5]|4|5|2[16]1al12|11]16l11]9 666|718 151218
Fe= 3295 Pt 105)16 |12|10| 9 |16f 9|7 |5]|5]|16]6[6 |43 ][13 1612|10| 9|16] 9| 8| 5|5 (16]6|7[4]4]13
12016 10| 9|8 |16] 8|65 415553 |31 16(11] 9|8 |16]8|7]|565[4]16]5[6]3]3]12
33|16 16| 16]|16|16]16[16]16[16]|16[16|16]| 16| 13| 16 16|16|16|16|16[16]|16]|16[16[16[16| 16| 16| 14| 16
G 48|16 |16|16|16|16]16]16[15] 11|16 14|16 11| 8 | 16 16(16|16|16|16]16]|16[16]13[16|15[16| 14| 9 [ 16
sieomwmecon | & | 6216 (1616 16]16]16]|16]|12| 9 [16]10[16| 9|6 [16|= [16|16|16|16|16]|16|16|14|10|16|12|16|11| 7 | 16
Gieso seestavvedl 5 76 [16 [ 16| 16|13 [ 16| 14|14 |10 7 |16] 8 |13| 7 | 5 (16| " [16|16|16|15|16]|15|16]|11]| 8 |16| 9 [16] 8 | 6 | 16
bl Blo0|16]16]15]11[16[11|12| 8|6 |16] 7 [11] 6 7116| @ [16[16|16|12[16]13|15|10| 7 |16] 8 | 14| 7 | 5 |16
105{16 16 [13| 9 [16]10]10[ 7[5[16] 6] 9|5 14 16]16 (15|10 16[11[13] 8] 6 [16] 7 [12] 6 |/ 15
120116 |14 (11| 8 |16] 8| 9|6/ 16] 5|8 [} 12 16(16(13| 9 |16] 9|11 7[5[16] 6 [10] 5} 13
33|16]16|15]|13|16]14[16] 8| 7 |16 9|16| 6] 5 | 16 161616 |16[16][16]| 16|14 9 [16[11[16| 10| 7 | 16
H}m‘j 48|16|16[10] 9|16 9 (15|65 [5]|16] 6 14| 4| 3|13 16|16|1612|16[12|15] 9|6 [16] 8 |14 7| 5 [16
L mie2|15(16| 8|7 |16|7|[11]| 4| 4|14 41133 [10|]|16(16[13]9[16)9 11| 7 |5|16]6]|11|5] 3|13
ALPOINTS ’.;‘761214661669331139///7,82161411716896414594311
B = 0875 Blooj10j12|5|5(16]5|8 |3 9]3|7 4 J7|B[13|12]9]6[16f6]|8|5][3[12]4|7]3 ]9
Fe = 3000 Pt 105] 9 (10| 4| 4l14lalep N8V 6l 1 ]6 1M|10]8]|5(16]5]6]|4[3[10]3][6]3)]8
120189 4|3|13|3|ev TV 5V 1 ]5 10j9l7]4l6ls5|6|3 Jol3]s 7

EM = MINIMUM EMBEDMENT (PENETRATION)

CL = MINIMUM CENTER TO CENTER ANCHOR SPACING

MASONRY ANCHOR SCHEDULE NOTES

1. SPANS AND LOADS SHOWN HERE ARE FOR DETERMINING ANCHOR
SPACING ONLY. ALLOWABLE STORM PANEL SPANS FOR SPECIFIC LOADS
MUST BE LIMITED TO THOSE SHOWN IN TABLE 1.

2. SEE MOUNTING SECTION DETAILS FOR IDENTIFICATION OF
CONNECTION TYPE.

3. TO USE THE ANCHOR SCHEDULE, FIRST DETERMINE THE DESIGN
PRESSURE, SPAN AND CONNECTION TYPE FOR THE SPECIFIC OPENING
BEING PROTECTED. ENTER ANCHOR SCHEDULE AT A LOAD EQUAL TO
OR GREATER THAN THE REQUIREMENT AND A SPAN EQUAL TO OR
GREATER THAN THE REQUIRMENT; USE THE ANCHOR SPACING LISTED
FOR THE SPECIFIC CONNECTION TYPE AND ANCHOR SELECTED.

4. LINEAR INTERPOLATION IS ALLOWED FOR INTERMEDIATE SPANS
AND LOADS.

5. EXISTING STRUCTURE MAY BE CONCRETE, HOLLOW BLOCK OR
WOOD FRAMING. REFER TO ANCHOR SCHEDULE FOR PROPER ANCHOR
TYPE BASED ON TYPE OF EXISTING STRUCTURE.

6. ANCHORS SHALL BE INSTALLED IN ACCORDANCE WITH THE ANCHOR
MANUFACTURER'S RECOMMENDATIONS.

7. MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDES WALL
FINISH OR STUCCO.

8. WASHERED WINGNUTS AND NUTS SHALL BE INSTALLED SUCH THAT
THE NUT IS FLUSH WITH THE THREADED STUD OR BOLT, MINIMUM.
MACHINE SCREWS SHALL HAVE MINIMUM OF 1/2" ENGAGEMENT OF
THREADS IN BASE ANCHOR AND MAY HAVE EITHER A PAN HEAD,
TRUSS HEAD, HEX HEAD OR WAFER HEAD (SIDEWALK BOLT), U.O.N.

7
9. DESIGNATES ANCHOR CONDITIONS WHICH ARE NOT
ACCEPTABLE USES.
10. % DESIGNATES REMOVEABLE FASTENERS.

11. 1/4-20 TRUSS HEAD BOLTS MAY BE USED IN LIEU OF 1/4-20
SIDEWALK BOLT IF KEYHOLE WASHERS ARE USED.

iy
3
o o Y
e F >
S )
o
E = T
> 9.5
S5 SIn o
S|D| o
= 3 S
X =Slon I
E Sl O
A << =
= Y| <
[&] s 1O
=2 o
S| gk
AL
e
e~
w| |2
Q. (@]
nl |
Q2 2
=
| |x
2
s
&
3
L
=
SIS
M
—|o
z
DATE:  3/3/08
SCALE: N.T.S.
DWG. BY: AL
CHK. BY: LFS
DRAWING NO.:
TX—4024

SHEET _9 oF 11

© 2009 R.W. BUILDING CONSULTANTS ING.



ST

R:\A - Projects\Project Folders\Proj 1301-1400\PF 1358\D. RWBC Drawings\TX-4024\TX-4024.dwg, 1-10

0
2" /&
ANCHOR SCHEDULE SEB "
FASTENER MAX. SPACING (IN.) REQ'D FOR VARIOUS DESIGN LOADS AND SPANS #‘é‘“ogf ‘ é Jd!;;v
SHORTER EDGE DISTANCES LONGER EDGE DISTANCES ; ,%:_-ﬁ' © : G5 ‘
LOAD SPANS UP TO 60" SPANS UP TO 108" SPANS UP TO 144" SPANS UP TO-60" SPANS UP TO 108" SPANS UP TO 144" f > ':_7 :
g g w Bl psF (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) " § (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) ‘ ’-?‘D %‘P :
Elg ANCHOR TYPE 8725 s CONNECTION CONNECTION CONNECTION 8 = CONNECTION CONNECTION CONNECTION %ﬁg oL
BE =2 ,S%ETE TYPE TYPE TYPE -2 TYPE TYPE TYPE IBuz 8§ [FOT
v nijcilczlcalcalcslcilca|calcalesictiicalcs|calcs C1]C2|C3|C4|C5]C1]C2|C3|C4|C5IC1|C2]C3{C4|C5 “‘%GE 5",1‘52 ES
331151411 7 (1607|106 |3 |13]4 |9 |4 )10 1611613 8 1618|127 |4 {1505 12| 5 | 3 |11 ut*i%gg&g-@g;:gi
= | [ 48 [10 10| 7 [ 4 [16 NARZRBDERZZE 12|12 9| 5|16| 5|8 5|3]10]3 8|38 42&\\%0
1/4"0 TTW TAPCON 562876313353“7//5//A5E3997415464//8”63 6 g@%/\ﬁ
argpreml Ylelele lalsols[a A ds W da U274 |0 [T 7 5 3 235|306 5 45 8 3
e Bleols[s 14U Vs s Vs V0 fs |8 |66 l4ls|0|s |40 s )4 0 4 °
st 4 lals A7 Vs 44 Vs Vo4 s RN 77K 77 L 7 7/ R VR A N
12004143076 ///A///s//////?// 41413 7’A3”A///‘;//1€;///§//3 2
33]15]16 |13 7 [16] 7 [13]7 |4 [14]4 [15]5 V410 16]16]16] 9 |161 9 ]16[ 9| 5[16]6 6 /)13 W
IR BB ZE Z I ZE 1316|116 |16)6 12| 6 [ 124 [12]4 ]9 %DE: §
el EN VS IS ERI R Z Bl AR Y Z B Z N ZZZE g f10]15)8 4 16]5 114/ A9V A1 7 E{% L
3y I FO RN 77/ K0 7 BR 772 771K 7/ 8l 7/ 7/ 23 BN El K KA B K& A AR 77 Bd 77/ KR/ 2 453
R O N e a7/ 7B 777/ 7/ 107777/ Rl B 77K 77/ 37/, /X /KA 7/ 2 39s
S 105] 4 4// sl 4l ] 4 /4///A/ AEZE /5,////A5///5/////4 E%@é
2 R dans 1?3 166 12{?11{1/145/7/{'1‘; f145/7//{/1? 5mft%<
i 33|16 ]16]16[11]16]11]13]6 |6 [16]7 [13]6 |4 [15 S| 4
E"Wm”bm 48 16]15[11[ 7 16| 7 [10] 4 al1al5 o4 |3 |10 16|16(12| 7 (16| 7 [11| 5] 4 |14]|5[11] 5] 3|10 3| 9k
é].m 56212148516693311393///8212169516610331131037/8 & &
S | woncomsrans | V|76 [10(10] 7 |4 [16]5 |7 U477 9 |3 |6 L6 |5 [0][11]7]|4]16|5]8]3 3|73 s I
2 | s S BBRERERRZZ A Z 277 R RERRZZ R Z R Z2E
2 | Rihe EEREBRBEBERBRZZE7ZaZ7E ARBEBEBRZ7Z172Z 22K
] 12016 5|43 |w0]3|3v A sV A3V 1 ]4 6l6l4l3(w0]|3|aV A A5V 40 /4
R Z ZEEH D IR Z2 Z B R EZZZ 6 6l v N151161150/ 4/ 8 [16|10} 4/ 6 |16
=S a8 16 1016|100 A5 6|6 VA4 4 |14 B2 ZEE 222 Z BRI ZZZE |,
& sl162)160 4/ 18|16 8///7/4155//////311216A///816 8V A/ 415 5///51311 iz
Saoys ssc N A EHZZR0E 277 B 7227727 IR Z7ZRE R Z7Z BB A2 ZE ol B
a0 S ENZ7ZB60 RZ 7 B BRZ2277Z k277 B IR Z 7B RZ 272K 2
o325 sl 1sf10l A alslal 0 83 0 4/ 6 10 Jdalelal 9130 40 )6 IS 2
120 8 g 4 (a4 WA A0 T W A0 ) s 8 v g4\l e V0 T Vv o n ) s 8
331613119 [16]9]8|6|5]|16|5]|8 |43 |12 16[16[16[15[16]15[14|10] 8 [16f10[12| 7 | 6 |16 g
3}“‘@ 48|13[10[7]6[16]6|6[a]3 11|46 ]3] s 16[16[12]10[16f10[10| 7[5 |16 7 [9 |54 |15 &
® ,EQ6210964164637A935///A63161598168105415594311 gm
i sou sET ]‘7687431344///%7’/4////A52‘14118616674312463///9 Sz
v - 075" Bleof7]s5 4|3 |11|3 )3l W06 A3 J4a|e]12]9]e6|5].]5]|6[3][3]|10]3|5 1 s NE
Fe = 3000 PSI 15\ e (4|3 eV o sV A0 0 14 10|75 |4l16)5|4(3 934l Ve 1S
2015 (3 [3 A8 L/ 0 4V /3 R AR ZZE Z B2 ZE 3/3/082
DATE:
scAE  N.T.S.
DWG. BY: AL
CHK. BY: LFS
DRAWING NO.:
TX—4024
sHEET 10 oF 11

© 2009 R.W. BUILDING CONSULTANTS INC.

-

N
) /

C

[

NAL

?gg S

o

P
M

)

(



R:\A - Projects\Project Folders\Proj- 1301-1400\PF 1358\D. RWBC Drawings\TX-4024\TX-4024.dwg, 1-11

0
o]
1o}
ANCHOR SCHEDULE ANCHOR SCHEDULE g
FASTENER MAX. SPACING (IN.) REQ'D FOR VARIOUS DESIGN LOADS AND SPANS FASTENER MAX. SPACING (IN.) REQ'D FOR VARIOUS DESIGN LOADS AND SPANS - d 5
m LOAD SPANS UP TO 60" SPANS UP TO 108" SPANS UP TO 144" w LOAD SPANS UP TO 60" SPANS UP TO 108" SPANS UP TO 144" g ) ;,‘
g % PSF (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) g % PSF (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) < Qﬁ.
£5 ANCHOR TYPE | MAX, E5 ANCHOR TYPE | MAX. 588/
93 (SEE CONNECTION CONNECTION CONNECTION a3 (SEE CONNECTION CONNECTION CONNECTION ?N%
S g NOTE TYPE TYPE TYPE 5 E NOTH TYPE TYPE TYPE 1
v Jo1)c2|c3|ca|cslct|c2|ca|calcs|ct|c2|C3|CalCh v fc1lca|ca|calcsfct|c2lcalcalcs|cl]C2| C3|CalC5 B P il
33116 |16]16|16]16] 1616 ]14] 15[ 16] 16 [15]10] 1116 33|16[16]|16]16]16[16]11[ 9| o [16]11] 9| 6] 7|16 3 %»
s> { 48 |16 |16 | 16 16| 16|16 1210|1016 }12[10] 7 | 8 [16 Frommomsosen | 48 116|131 11(12|16|12| 8| 6| 6|16] 7| 6] 4| 516 g B
[ g af
BN V5o 116 [ 16| 14|14 16| 15|10 7 | 8 |16] 9 | 8| 5] 6 | 16 62|16]10[ 8| 916|966 [4a|5]|16]6]|5]3]|3]|13 LAY
"D LAG SCREW
HOwSS [ e T3 T 12 [ 16| 12| 8 | 6 | 6 [16] 8 [ 6] 4| 5|16 v 6l16] 8|7 7[16]7|5]3]4]14|5]| 4y 3]0 2 %\
e 1901611 o J10]16f10] 6| 5[5 [16]6 54414 o o 13|76 |6[.f6]4]l3]3][12alslAN ] E@@b
asse 105]16] o885 [alaf16]5]4]3]3]12 1s{11] 65516 5| 3310|337 3 <
120l16] 8|7 7]l 7]5]alafrals]al3]3]10 o 120110\ 5 [alal6ls |3V Al sV 6 °
331161616 16[16]16] 10 9 [14[16[16] 8 | 6 | 11|16 S 33|16 16[13] 9 [16]10[ 11| 7 [ 5]16] 6 | 10| 5| 4 | 13 .
P | 28 [ 16 [12]11[16[16[16] 7 | 6 [10[16]11] 54 |7 [16 DE| G |28 ]14[11] 06116l 6753 2[4l 7 3] 2] =
62|16 98 |14[16]14] 5] 4|7 [16]9][4a|3]5]16 - 62|10] 9|7 |5[16]5[6]4l2]9]3|[5]|3]2]7 ol
—_ " B a 3
TP 76]16] 7|7 (1116|1143 ]6[16]7[3]2]4]16 SEL ali™™ 768 |75 4|14|4]4]3|2|8l2]a]|20 6 £ F 3
SE| 7" 90 |16[6]5]9[16f10]3[3][5][1.6]6[3]2]4]13 e8| “7* ol7lel4al3]12|3]4] 2 62|32V )5 E g @
iz (] % 77 > V.G
nE 105[16| 5 | 5|8 [16]8 3|2 |4|15]5|2]2]3]11 = 1056 | 5]4]3(10{3|3|2V 5 2|3V 4] 4 z ¥
[ 4
25 120] 15| 4 | 4 6] 7]2]2]4]13)a]2V ]3]0 12005(4(3]2(9]2]3]20]5s 2V ) 3 s 23 %
=k 33 |16]16]14]16[16]16] 9| 7 | 9[16[10]8|5]|6]16 3316 16[13] 9 [16]10[11] 7 | 5]16]| 6 10| 5| 4| 13 x Jol
g'gW481611911161165616754416 48]14]11] 9|6 |16] 67|53 12]4a|7]3]|2]09 N
= 62|16] 8|7 |8]w6lols5]4a]4a[6]5][4]3]3]1n Hrmmmss 5 19015 7[5 16| 5] 5] 4] 2] 9] 3] 5] 3217 S| 4o
oo |76]15] 7 6|76 74|34 |13]4|3]2] 310 eSS 6|8 7[5[4f14|a]a]3]2]8|2]4|21 s S gl
o 9o[12]5]5]6[16]6][3|2]3[11]4a]3[2]2]8 =20 ofj7]el4]3]2|3]al2 62|32V 5 o o
105|115 4|5|16]5]|3]2|2[9]|3]|2p 2|7 tos)6 | 5|43 |10)3 (|32 s 23 44 -
1200 9 |43 ]4af15)4al2|2|2|8|3|2[ ) )6 12005 141312191232y A5V A2V /3
33116 16| 14|16 16]16] 9| 7|9 |16]10| 856 |16 EM = MINIMUM EMBEDMENT (PENETRATION)
4811611 9 |11(16}11| 6| 5| 6|16] 7 | 5| 4| 4 |16 CL = MINIMUM CENTER TO CENTER ANCHOR SPACING
e "5 17615 | 7 | 8 |16] 9| 5] 4] 416|543 ]3] 12
o S 761576 [7[16]7[4[3]4]13]4]3]2]3]10
~ |,
cL=20 9012|556 [16]6|3[2]|3[11|4]3[2]2]8 4 2
105[11] 51 4|5(16]5[3|2|2]9]3|2p/f2]7 ol B
120094 (3]4af15]4f2]2]2]8f3|2p A ]6 23
= [r
a—
EM = MINIMUM EMBEDMENT (PENETRATION) o
CL = MINIMUM CENTER TO CENTER ANCHOR SPACING '-(}J’
ANCHORING NOTES FOR WOOD SUBSTRATES QE: g
1. FOR CONNECTION TYPES "C1" AND "C4", ANCHORS INSTALLED INTO THE 1.5" FACE OF 2X FRAMING SHALL BE IN THE 8 é
CENTER OF THE 1.5" FACE (.75" EDGE DISTANCE). ANCHORS SHALL BE A MINIMUM OF 2" FROM ENDS OF 2X FRAMING. %E é
s~ t< =
2. FOR CONNECTION TYPES "C2" AND "C3", ANCHORS SHALL BE INSTALLED A MINIMUM OF 1" FROM THE LOADED EDGE k (o] 3
OF 2X FRAMING AND A MINIMUM OF 2" FROM THE ENDS OF 2X FRAMING. - %
v—o ]
3. FIELD VERIFY THAT ANCHORS ARE INTO ADEQUATE STRUCTURAL WQOD FRAMING MEMBERS AND NOT INTO Z E
PLYWOOD, OSB OR OTHER SIMILAR MATERIALS. DATE:  3/3/08 z
Q
4. FASTENER EMBEDMENT (PENETRATION) EXCLUDES SHEATHING, WALL COVERINGS AND SIMILAR WALL DRESSING SeAE:  N.T.S. S
MATERIAL. DWe. BY: AL o
CHK. BY: LFS s
5. SPECIFIC GRAVITY SG = 0.55 IS FOR SOUTHERN YELLOW PINE (SYP) AND SG = 0.42 IS FOR SPRUCE-PINE-FIR (SPF). T
FOR INTERMEDIATE VALUES OF SG, LINEAR INTERPOLATION CAN BE USED TO DETERMINE MAXIMUM SPACING OF DRAWING NO.: o
ANCHORS INTO WOOD. TX—4024 5
o
sHEET 11 oF 11 |




